Test 10.2.2011 VKC
Ldsungen:
Punkte
1 | Bitte bringen Sie's in die Form ((J+ ) + ) 6
a) be-8bvz+e-8vz | L: (-b - 1)(-e + 8vz)
b) 3avx - 24vx - 2a%y + 16ay | L: (-8vx + 2ay)(-a + 8)
C) 252+ 65j+ 36 | L: (5] + 4)(5] +9)
2 | Bitte berechnen Sie 6
a) 4:(7:(5:3)) L: 2
b (5:(5:3): 3 L &
o (¢:2):%): & L: =
3 | Bitte berechnen Sie 4
a)
—ej—1 3sw+ 8y
“or—2 " —6jr — 5x
L:
—ei—1 , 3sw+8y 6eijr + 5eix + 6jr + 5x — 3orsw — 8ory — 6sw — 16y
—or—-2 " —6jr — 5x 6jorz + 5orx + 12jr + 10x
b)
—6e —7mu _ 7hm — 5kz
5p — 3w z-¢cp
L:
—6e — 7mu  7hm —5kz _ —6ez + 6cep — 7muz + 7cmpu — 35hmp + 25kpz + 21hmw — 15kwz
50-3w ~ Z-Cp ~ 5pz — 5¢cp? — 3wz + 3cpw
6

4 | Bitte berechnen Sie

a)
L:
35
3
b)

5-3)* (5-%)
(5 +%) x (=Z-3)

L:

99

14
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c)
S -3) % %
-3 3
L:
55
24
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